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 :  :   , ,   
 .     .      . 

  .

 

 -        -
   . 1-  ; 2- ; 3-  .

:
1)  ,   .
2)    .
3)      (  15 ).
4)      .

                          3.27                                            5)      
                                                                                       .

:
1)      c .
2)   .
3)       -    .
4)   .
5)          (  = f ( 2  )).
6) -        .



111

1)     :

                                            
       ( b   b )                 ( b   1,5 · b )                                                                                 ( b   2,5 · b )

                                                                                               3.28

2)    :

                                                        

                                                                                           3.29

3)     :
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(  )

                                                                                                 3.30
   

1)         .
2)     – ,     .
3)  .
4)      .

  

1)   –  ,  , ,   (  -
 ).   –   ,    -6  

      ( ).   75 / ,   = 0,8    = 60 / .
2)    (  23831 – 79*) –     ( ),  , 

   , . -     -  « »,
  .

       (   30 / )                                 (   20 / )                               (   15 / )

                                                                                                3.31
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3)     (  38-105514-77).   35 / ,  L < 5600  ,  = 2,8 

b = 30 .... 50 .    = 0,7    = 280 / .

                                                                                          3.32

4)    – ,    ,   , , -
     , .   45 / .

5) –   , ,  ,  , 
  ,     , .    -

     .

  

   . 
  –  :

    , 
 .

   .
     

    .
                             3.33

f3
70cos
ff 0
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   11  :

a)    (b0 / h = 1,6)   12841.1-80.

                                                                                              3.34

b)     (b0 / h = 1,2)    38-105161-84.

                                                                                               3.35

   –      .    1,5 ... 2  
 -    .
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                                                                                           3.36
   1  ,     ,        1

 F1       F2 .
          L1     L2 ,  

. ,            ( -
)   ,       V1  V2 .

   2  ,    :  ,     .
      :   (    >0)   (  -

 -     ).

                                           -    (  ) , 

                                                              -    .     2·d2 = 1·d1 · (1- ).

                                    -    .
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                                                                                               3.37

1)    , :  = 1 = 1800 –   ,                                                         (   ).

                                                                                                      -  .

        ,   :

2)    L:   3.37:        L = L1 + L2 + 2L3 ,

           

                                                                   -  .        .

  :                                                                                                       -  .
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1)       0 :

                                                                                  ,    2  , 
                                                                                    -  .
                                                                                 F0 –     ;
                                                                                          –    .

                           3.38                                                          -     .

    : 0 = 1,8    ; 0 = 1,2    .

2)      t :

                                                                                 Ft = 2T1/d1 =Ff ,
                                                                                   :

                                                                                  :                                                  (1)

                                                                                  :                                                   (2)

                           3.39                                 (1)  (2), : 2F1 = 2F0 + Ft .

:                                                         -    .      :

                                                        -    ,                       -    
                                                                                                                                         .
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3)       V :

                                                  FV –      .

                                                       :

                                                      :

                                                                          -    ,
                                                    q –    .

                                                                                                  -     ,
                3.40                                                                 –   .

4)       :

                                                     :

                                                    ,                          -    .

                     3.41
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                                                                                               3.42

   

1)   (     ).
2)     (     ).
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 18

 :         .  -
     (      ).     

 .

        

       ,       
min    max,      .

        :                          .

                                                                                           U (  ) 
                                                                                          :

1)        -
   :

                                                                                                                -     (   –  );

                                                                                                                       -     (  dmin = 63  
                                                                                                                           « », 90    « »   . .

2)       
       

                                    3.43                                            : [U] = 5 c-1   ; [U] = 10 c-1   .

   U ,       Lh  .

1
U d

E

30d1

min1 dd

U
L
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      (      )

             
  :  V = 10 / ,  = 1800 ( i = 1  d1 = d2 ),  , 0 = const, d1/  =

const,      L0 ,  ,   .    -
    (  3.18),     [Ft0]   .

                                                                                             3.44
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  [Ft0]   –   ,       ;

          –   .
           -        :

 0 –        ;
       –         ;
       – ,       ;
      V –        ( V=1  V = 10 / ).
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      i –        ;
      Z – ,      .

           :                                                                .

       

                                                                                                            

                                                                                                            

                                                                                                              0 = 1,8    ;
                                                                                                                    0 = 1,2    ;
                                                                                                                     –     ;
                                                                                                                    z  –  ;
                                                                                                                     –   .

                                  3.45                                         0    1,5 .
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 :  :   , .   -
.     .     .  -

 ,       .

 

 :
1)    .
2)         ,

   .
3)    ,   .
4)  .
5)   .
6)  .
7)     .

                                                                                                                                         1, 2 – ; 3 –  
      :

1)        ,                                                3.46
      .

2) -          
   > 800 /  ( V > 15 /  ).

3)   .
4)    .
5)     ,     .
6)      ,  .
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    :

1)  –         .
2)  –        .
3)  –      .

  

1)    (  )

1 –   ;
                                                                                       2   –   ;
                                                                                       3 – ; 4 – ; 5 – .
                                                                                        4   3  .
                                                                                        5       .

                                                                                              :
                             3.47                                                        4  – 19,05 – 15000  13563 – 75 ,
                                                                                      4-  ; 19,05 –  ; 15000  –  .

2)    (  )

  ,   .     , . .   .
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3)    (  )

                                                                                              1,3 –  ;
                                                                                              2,4 –  (  );
                                                                                              5    –      
                                                                                                       .

                                                                                                      2    1,  4   3.

                                                                                                          ,  , 
                                                                                                      .

                                                                                                    :
                                                                                                           – 1 - 19,05 – 74  –  45*   13552 – 81,
                                                                                                 1 –  ; 19,05  –  ;
                                                                                                       74  –   ; 45  –  .

                                3.48

     

1)  .
2)    .
3)  .
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                                                                          :
                                                                          l  –  ;

d -    ;
                                                                           = d  · l  –    .

                                                                           ,     ,  
                                                                            q  .

                       3.49                               
1

1
t d

2
V
NF -   (   );

                                                                                  m – ,   
                                                                                             (m =1   , m=1,7
                                                                                          ; m=2,5  );
                                                                                   –  .

K  = V ·  ·  ·  ·  ·  ,
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      :

 F  – ,    ;
       F  –     .

                           F  = Ft · V + FV + F . ,

                 –   ;

         V    –   ;
         FV    –     ;

F .  –     .

FV = q · V2,

q –    .
          –  ;
        g  –   ;
        f – ,     .
               f = 1   = 900;
               f = 2   = 40 .. 800;
               f = 4   = 10 .. 400;
               f = 6   = 0.

,]S[
F
FS   

1

1
t

d
T2F

à FCÂ= q a g Kf ,à FCÂ= q a g Kf ,
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                 U,    -
       .

 L = z0 · P –  ;
      z0   –   ;
       P   –   .
      [U] –   , –1.

      

                                                                                3.50

 = 1,05...1,3 –  ,         
                             .

,]U[
L
V2U   


